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1. NHNEAEF - B A 7KEIER Rl ik 2 [93 f5%]
(A) CaO (B) MgO (C) N,O, (D) P,0,, (E)ZnO
2. ZJEH,0+(CH3)3sN—(CH3);sNH™ » OH - "NFI[{a[ % & HLalifkim S 2
(A)H,0 > (CH3)3N (B)(CH3);NH' » OH (C)H,O » (CH3);NH' (D)H,0 > OH -
3. {RATEREEER - T Al EANERICER - Ll EnZR RS ¥
(A)H,PO,  (B)HPO3> (C)H,PO, (D)NH, -
4. TR BHI>HNO, >HC,H30, >HCIO>HCN » {RAFZEZR 7 Ry 556m 2
(A)I (B)NO, (C)C,H30, (D)CIO (E)CN -

5. HF NS YA E R - Rorsg 2 Heai ey s M i 2 [90 H K]
(A)H,O (B)HCI (C)CH;CO,H (D)NH; -
6. NHIE Ry tLlp iz hn S 2 [84 % K]

(A)HCI> H" (B)NH; »NH,  (C)NH, > OH  (D)CH3;CO, > CH3;CO,H (E)NaOH>OH -

7. BRI (BN A A ) © HSO4 +CH3COO =S04> +CH;COOH ;

CH3;COOH+HS SCH;CO0 +H,S HfHEERE(F)CH;COOH  (Z)NaHSO,  (F)H S/KATR
FH ) RNEFE ADF>2>H BR>F>Z OL>H>K D)Z>H>H -

8. FLE/KRAE L NS : H,STH +HS > HS <H' +S8* » H,OSH +O0H - 4 0.10 3%
H/AMEEASRT » THISHFRE () rBEEERE) MEG - & IEmE?
(A)(H ) =2(8") B [(H]=[(HS ]+ [(S") (O2[H ) =2(HS ]+ [S*] +2

(OH ] (D)[(H ] =(HS ] +2(S* )+ [OH J-
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i ? (9422351
(A) Bile v AR ML LN - DUAERZTT
(B) [LRITEYVE —Rfatkoans - — AR
(C) Wit FRnYIEREIRE AR RiR R 1 il A K
(D) WRELHEE|JTHE b EEOTIEER - Sl EAVGE R
(B) T3 B bR - R —S bR IE - DI R BN Ll

10. "~ A 0FEE 978 m] 81 0. 1M Y Bt B K2 JE 2 (94455 ]
AFE  BER  (OWfERH  (D)ixEEd  (E)iE iR

1. —fEHY B AE L B RL % AR - /£ NaOH ~ KOH ~ Ca(OH), + Mg(OH), VUfE/E o » I
—EYEAEHEEOE - &E  WnEGHREEE - s - EYEIEERL > T5H—H
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BFIW—fE S B i FE/KEY pH B2 R BN ? [9522H1]
(Aftrs B)ZlrE Oakesa O)XRE

1B EHEREBEGRAET - TABERAKERZ pH ERYFEL - M FIEH? [91 2]
(A)#7KEy pH HZE 0 (B)YRMEFKH pH HABEEILEE  (OFfF®@mEZRT
0 =pH=14 H (D)igEAEKH pH BEARFRZE R T @B TRE -

14, IR AT RFAKAVEE?  (AERRESEH 1=[0H 1=K, B)EHmEES
{&[H']=[OH ]=10 'M (C)60 BG[H']>10 "M - 2Rt (D)0 BG[H 1<10 M - I 2l
P -

I5. — =27 1.OM B g /K ¥ ey - 75 /Ry pH HEEZ 8 WA (V Z27F) 9&(L > 71
LU 51 Aa] #e [l 7P 2= 7 2

(A) (B) (©) (D)

14 14 14 14
pH 7 pH 7 pH 7 pH 7
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16. A YA pHE R 4.0 » 75 BRIV EEE T-E Ry A 2 2 % > JI B AR pH [E 1
(A)8.0 (B)2.0 (C)4.3 (D)3.7 (E)6.0 ° (log2=0.3)

17. AR 2 pH=2 %k pH=3 > THIEMMFER? (AMAZEE pH=4 5K
BN AZE pH=11 3% (OMASLERELAAK OIMA=HEELAK -

18. [ /K 2% /K 3 0 O T W 1 9 B RO T 2 85 3R 2
(MoK [H 1= VKW —[OH ] (ByEE MK ¢ [H 1> K, >[OH ] ()il
K - [H1< K, <[OH ] (D)4ti/K : pH=pK,=pOH -

19. WHERERATILAPY BRI — » NaBlE IR S oS4 S HE T BRI -
BEEETRER 4x10° M o SRS pH (ERHET R E(E ? [94£23]
A)14 @B25 ()38 [D)63 (E)94

R4 ¢ B 4y AR R (HCD) > (5% 2 pHE 4E FEAE 2.3(E B TORE 5x10 *M)E 4

PFDE ey - S EBAeZE SRS R > FRAGEBE - BA %82 pH
EREE 20 M Bl B THIME - [92 £ 5l ]

20. % R EI I EE R - EFT S R A K Mg(OH) (5 T8 ST EL D ET > i
i — AT R pHIE K 1E 2 IE % {8 2.3 9
(A)116  (B)145 (C)232  (D)290  (E)320

21. R LR BRI H s AT A — AR S BN E R R ?
(A)CaCO3(4r T-& 100)  (B)NaHCO;(%> T-& 84)  (C)AI(OH);:(4r T- & 78)
(D)MgCO; (%5 T & 84)



22. WFEZH G [CeH4(COOH)(COOK)] > B E HKHP » 53 T 8B & 204> fE{LEH
St EAHEACERERE  HEMMBTEENEZRE  FRHRE®BMTEZ —
BAERE A
fEFE 0.355 50 2 KHP [&E#% - DIgs M X Fe B EL 50.0mL #YFEAE A - S5 45 Y >
HUH 20.0mL > SEREEM Z > IO AFE REE - DURKUREHY NaOH 75 %0 & > 2
4K BENS - 2 NaOH A K 2 B FE B 27.6mL - (93455 ]
(A)gs M X 2 & — Fr A7 7R B9 P9 I3 &5 [

(B)gs MY & [ — A P 7R /Y ] JH 25

(C)F B Wy » NaOHE R Z 4 i [ — Pr i /R BEIH &5 ML (12 28 R i Ih AT 5
(D)f B G A s M Z > Ryl — P PR R BE AR B TR JE Wp > Sl FH 35 38 8 S Hr 45 1
(E)FE I8 — AT 152 7 By 1 W 58 %0 /5 21.85£0.01mL

G ¢ BT REs AV E V > 5% 20mL 5 50mL « & 25 MAGAR I EY)I R/ NIEEGIEH - )

22mL
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23, FIE A 0.3 AHVER - BEIRAZDwiVa & b - mrhER? (RFEH 5
1.0 0 5 16.0» Al 527.0)A)026 (B)047 (C)14 (D)4.2

24. R T RE bEm > NYI—E LEYHE S S S Er?

(A) Mg(OH), (B) KOH (C) NH, Cl (D) Na(CH3COO )

25. st —HEE R 2 HIRR R Rhilass - HAppr e Z fIREIEHIES BT © (DEL—HL 0.400 F2HY
RS &2 o BEERER TN 50.0 27125 807K - QIR >~ 80.0 Z71 0.100M HCI /&K - k(%
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26. WML N > HBOAK 35.0 271 0 K& bz 0.512 5¢ - DL 0.100M B G LEE IR E 2 5 Bk
Rf - A 40.0 TG EAEIER - AIEERE R FTAE & T3] elg ? (88 HK]

(A) gkl (B) Bz (C) «ilfiz (D) @&k
27. DLHCIA K (0.10M) i /£ 25 Z 7 NaHCO3 % /R (0.10M) - | &1l ] [ f% A (U 2= H 0 €

a2 (fEEh BRIIHCUE R 2 ZFH 80 [85 HK]
13.0 9.0 13.0 9.0 4
7.0 —I 5.0 ﬁI 7.0 5.0 1
VI ) © . O
1.0 1.0 { 10 Gl 1.0 L
20 40 mL, 20 40 1 20 40 mL 20 40 ml

28. 1£ 25 0§ 0.6 M NaOH(,q) 40 ml&i 0.2 M HCl,q) 60 mLE &% > BRA R EE
St ZEIEME ?  (A)H 1=0M (B)[H ]=1.0x10 "M (C)[OH ]=0.12 M
(D)[C] ]>[Na"]>[OH ]

29. EAREDRET » E g (COON), 1 fI/K AR BB AR R - RPIVRE EIEAK

100 72 7 A & 78 B A T B o [93 $5% ]
i FE (°0) 20 30 40 50 60 70
=353 8.7 12.5 | 17.5 | 23.9 | 31.5 | 45.8
HY 30°C HYEERZAR 10.0 78 » DIZEER/K G HFFRESE 250.0mL 7% » KETER BULFREATE 20.0mL

LL0.100M HY G & EsA UM E - SUHFIEER e ERF - FREM 2 /D mL HYE S AR ?

30, AEEAER Y MEBKE 2 W BRE=EERSE B - BRI - 5D
BRI B Z ARG RAE - B ERE 2 A RER BTG SR R E
I 2 0 [83 H*A]
(AEE (Bl (C)FPEK (D)% HE -

31, 40 B B 2 B o 1T I R R o FE AR - I SE NaOHL K9 & B I% > T 51 {a]
5 [V (I FE 2 4 2 T 9 [ 84 23] ;
(A)VERT > MM E s AmEE R RRys FEe e | ]

i A FE R RS AL —F  (C)1E NaOH % il A 88K (D) £ Noonit
¥ NaOH /AW B S b - [FH % EHE -

32, HERAKLCOx o3 0.690gA7K » 1L 0.100M HCl g 5 + AILA 50.0mLi M E I & -
FELL 0.150N- NaOH oq) K SHATE » A 2.0mL g1 B » Rl Ko COs o B FE T 4
29 (K=39) (A)4.7% (B)47% (C)53% (D)94% o

33, FE0.100 M ATREAE 100527 » SEr S P 100527 R oI —FEfESS 2 [9575%]
AR BEE (OB OERE  (E#E
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W D IR EET - S =SSR R - 2 - i - (BRI & s R
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(1) BT EEEHGURTRIE A HR e -
(2) NI ABE Eos8s 5 SR BE (BT AP A B » S -

(3) BERHAEANCH SRS TR TR AR K HEEEE
Sl -

SR - ZaE - BTN T B T ? (96 81
(AEERE « BLHY - WATLH  (BYRA(LH - AL - B

(C)R{LHH - BE ~ WA(LIn  (D)EERE - MALH - FLE

3SCHE 20 T R ©  BEREIRA S 100 EIBRER SIERE - £ pH (53
HIZS 7.0~ 6050403020+ 1.0 - SHFMEREZRIRN A SR > (&0 pH H -
SYRIRERS 6.0~ 5.0~ 4.0+ 3.0~ 2.0+ 1.0~ 0.0 - 5 I &A1 AT BIRE 1B & A1)
S EIE > RUBTZRAHAS - FEREE 50 —(E 2 (96 i)
)

EE

1.CD 2.D 3A 4A 5D 6BD 7.C 8D 9.D 10,ACD 11.B 12.C 13.D 14.A 15.A
16D 17.C 18.D 19.B 20.B 21.C 22.AC 23.B 24.A 25.(a) CaCOs+2HClwg —>
CaClyaq) +H20+COsq  (DELE (c)0.18 78 (AIRIEISERATN/K » & EEEEERL 26.C 27.D
28.C 29.222mL 30.A 31.D 32.B 33.D 34.B 35.A




